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QUESTION 1

Designing the best system-wide or globally optimal, integrated supply chain solution is difficult for all of the following
reasons EXCEPT: 

A. monthly forecasts are always wrong 

B. supply chains are dynamic, evolving over time 

C. systems vary over time in response to environmental changes 

D. supply chains are complex networks of facilities dispersed over a large geography 

E. different facilities in the supply chain frequently have conflicting objectives 

Correct Answer: A 

 

QUESTION 2

Thinking in terms of which of the following promotes the broadest look at a company\\'s offerings and its customers? 

A. quality 

B. cost 

C. perceived value 

D. speed 

E. value 

Correct Answer: C 

 

QUESTION 3

Which of the following is a type of value that supply chains can and must create? 

A. financial value 

II. customer value 

III. social value 

B. I 

C. II 

D. I and II 

E. II and III 
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F. I, II and III 

Correct Answer: E 

 

QUESTION 4

A work center\\'s demonstrated capacity for the last week was 160 standard hours. Its demonstrated capacity for the last
6 weeks was 140 standard hours. Which of the following numbers would be best to use to determine the appropriate
future load for the work center? 

A. 160 standard hours, because it reflects what the work center has proven it can do 

B. 160 standard hours, because it reflects what happened most recently 

C. 150 standard hours, because it is the average of the last two periods 

D. 140 standard hours, because it is based on a greater number of periods 

Correct Answer: D 

 

QUESTION 5

Which of the following activities is an aspect of proper demand management? 

A. Prioritizing shop orders to meet demand 

B. Facilitating the use of resources to meet demand 

C. Using demand to calculate takt time 

D. Considering all sources of demand 

Correct Answer: B 
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